FEADEFRRAHEE (RobhY) 2E0CHARSMELLYET,

[ FEEE ] XEHDER ARSI L. YARSBETT,

M4 BASL &£ (RHER) M4 B S (mEER)
RER (RKRIMT) 1K 6,600 (600) | T—JIVBR 18 330 (30)
BES 18 220 (20) | 7Y I=f=#HBF 10 55 (5
REEEEA 148 220 (20) | B4k - K7A4 bAKR—F 18 110 (10
EEmEe 18 110 (10) | E7/#%F 100 110  (10)
IV FSNRBBF 10 110 @(0) | & 1% 275 (25)
e 1K 8,800 (800) | HEERE 1% 660 (60)
FRE 13 2,750 (250) | XEE 1% 660 (60)
P B 1 2,750 (250) | Hhi 18 1,870 (170)
EHRE - REAH 1 220 (20) | AN L Y 1K 660 (60)
EE (BRx6R) 1HE 110 (10) | ®HREBEEBR SV J—2 (3Mx8M) 1M 3,300 (300)
& 1 220 (20) | IRE&&R& J—> (3.8Mx5M) 1E 2,200 (200)
RERE 1E 330 (30) | mE®RHU—2RELEME (1.8Mx1.8M) 13 1,100 (100)
Ei3 18 330 (30) | —MEER (1KwET) 1Kw 220 (20)
EE 1K 1,650 (150) | 4% EIE (10KwET) 1H 6,600 (600)
ARER 18 1,100 (100) | LEDEES 4 + 15-1H 110  (10)
£l 18 110 (10)

A (BT 18 220 (20)
[ BB R ] [ 2% ]

M4 BASL &£ (RHEER) M4 B S (mEER)
L—H—FR12a2— 1= 550 (50) | E7Z/ (¥WIWCFI - #7{E X) 15 6,050 (550)
wRIOCzv4—  (K) 1&8 3,300 @00) | EZ/ (REA2z4ADE) 15 14,850 (1,350)
wmg7OTozoa— (M) 1&8 2,200 (200)

[ FREARS% ]

M4 BASL & (RHER) M4 B S (mEER)
BEAAEY b+ 1=® 37,400 (3400)| Tz FRBRY RS04+ (1 kw) 18 1,100 (100)
HBEABtE Y + 1K 20,900 (1,90 | T2V b+ 18 880 (80)
BEACE Y b+ 1K 6,600 (600) | HEFATEMR 18 110 (10)
WDty k 1=® 5280 (480) | MMEAL VX 1{& 110  (10)
R—F—54 + 151 3,630 (330) | FoLwPY 18 880 (80)
VAR Sti UV S B G 151 6,050 (550) | B 18 880 (80)
A7—HRUVYrIA4 b 151 6,050 (550) | = T —HK—JL 1=® 825 (75
PAR R 151 2,750 (250) | 2k 1= 1,430 (130)
EYRXRY 540 (2kw) 18 3,630 330) | RE—H <P (BRO) 1H 3,300 (300)
ARy LS4+ (1 kw) 18 385 @5 | RE=HPa1—R (ARA) 19 5,500 (500)
ARy rS4F (500w) 18 275 (25) | A5—740L43— (1BHEY) 18 110 (10)
N—Z4F (500w) 18 385 (35) | FRARBEAERME (1AHY) 18 110  (10)
ITO 18 550 (50) | R kAR 1= 1,650 (150)
ITOEVR LRV UE 1x(1H 3,300 (300) | BE= 118 11,000 (1,000)
ITOEVALART LY 3514 3300 (300) | REV K 1K 165 (19)
ITYRKRy b 18 495 (45) | "—X 11 110  (10)




X (BBH+Ey b)

Az k- ZTI'\JF?«(F 1708 Ct v h Ji%’i#& (9_6&54 k) 1=®X
R—F—54 b+ 25| ARy kS4 + 20&
VXA St UV S 151 Dt k R—F—54 b+ 151
A7—HRUY2ESA4 L 15 ARy bS4 k 30&

Btw k ZTkJ l\?*f k 80%& ® #5
R—F—54 + 25| 1. meREOR LyEAREN IO —BERALEVEA T
TYIR=RYJ U b54 150 5 B i Cox ok, T2 oh Rk 15 M.
O7—hRYvJyr ksSA+ 15 FARMRBEREEHEE A,

[ EEHF )

M4 BAf SR (mEER) M4 Bf S (mEER)
ERRER 1= 5280 (480) | = RMEE QT U-I) 1 3,850 (350)
EEY b 1K 2,750 (250) | T—FLa—4%— (htvh) 18 1,100 (100)
HhSLRE—H— 1= 1,870 (170) | VU w FRF—kLa—4— 18 2,200 (200)
JOvI7LRE—H— 1= 880 (80) | MDFL—¥— 18 1,100 (100)
AF—o7O0v FRAE—H— 1= 385 (35 | cDFL—¥— 18 1,100 (100)
AT—VRE—H— 1=® 1,320 (120) | ¥ JLF4—TJL - BOX 1%F 550 (50)
T+—ILKENYHYRE—H— 1= 1,320 (120) | #%E1A16ch= Y — 18 1,980 (180)
RA4Y (AVFUY—H - 28U R 1K 1,430 (130) | PARSE 1 550 (50)
4D (BAFIvoE - R8 Y RH) 1K 1,210 (110) | HFASEEE (2 kwklh) 18 11,000 (1,000)
RAHVREVE (77 - SR 1K 110 (10)

TFTFOVREE (H D) 18 110 (10)
DAY LAIAY 1K 2,420 (220)
ILR—ZEE Q7 M-1ift) 1=® 2,200 (200)
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